Rewrite the sentences using a modal verb or a modal perfect and the words in brackets.

1.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

If I had worn my raincoat, | wouldn’t have become so wet. (in order)
I become so wet.
It is not allowed to carry scissors in your cabin suitcase.

You
Nobody believes that Austen wrote that book as she died years before being published.
That book before being published.

John doesn’t usually cook. It is likely he has asked his mum to make his birthday cake.
John’s mum

The deadline for the science project is next Friday. (finish)

The Science project
It was needed to forget our differences to rebuild the town after the earthquake.

We

It won’t be necessary to think of a Christmas menu. My brother has invited us.  (need)
We

Tom knits his own wool jerseys. He has surely attended a sewing course. (as)
Tom his own wool jerseys.
It should be advisable for him to get up earlier not to run to school every day. (so as)
He every day.
The Smiths can sleep better on rainy days because a builder repaired their roof.*

The Smiths and they sleep better on rainy days.
Why don’t you oil the hinge to avoid that disgusting noise?

The hinge it makes.

It is highly recommended to tidy your room before the sleepover party.

You

The comet will likely be watched from 4:00 to 6:00 a..m.

We

Stop playing the electric guitar. It is midnight and you can disturb our neighbours’ sleep.
You because you can disturb our neighbours’ sleep.
Show me your Identity Card, please. People under 18 are not allowed.

, please? enter.

Why are you carrying that heavy rucksack? Your bones are not strong enough. (ought)
You

I’'m sure the cake won'’t be for John. He hates desserts. (ordered)

John He hates desserts.
| think it is necessary to buy a hair-dryer.

We

Who needs to follow a diet in the summer?

Is in the summer?

Oh! It doesn’t fit me. It's too long.*
Oh! It doesn’t fit me. It




